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Across
  5	 Successful racehorse (5,6)
  7	 Unable to speak (4)
  8	Limit (8)
  9	Aerial salute (3-4)
11	 Group of families (5)
13	 Range (5)
14	Greenery (7)
16	Last but ___! (3,5)
17	 Boy’s name (4)
18	Sudden setback — surprise 

blow from behind (6,5)

Down
  1	 Christmas scene (4)
  2	 Tree with funereal 

associations (7)
  3	 Prime (5)
  4	With a frequency between 

the red end of the visible 
spectrum and microwaves 
(8)

  5	 Cheat — betray (6-5)
  6	Castle near Sandwich in 

Kent where the Romans 
landed in AD 43 (11)

10	The plebs (8)
12	 Postage (anag) (7)
15	 His dozen is 13 (5)
17	 Breath rapidly (4)

Solution no 12,527
M U F F L E S H O W E R
E A U U H A
L U T O N P O M P O U S
O I C O D O H
D O G S H O W R E P E L
Y U D U Y

E P I D E R M I S
S N R C S
C H U F F K N O W A L L
A L L E U R E
R O C K I N G T E R S E
A E C R E P
B E R A T E D E A D L Y


